Agenda Item #: 3-C-4

PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS AGENDA ITEM SUMMARY

Meeting Date: April 2, 2013	<pre>{X} Consent { } Workshop</pre>	{ } Regular{ } Public Hearing
~	Engineering & Public Work Roadway Production Division	ks
	I. EXECUTIVE BRI	<u>IEF</u>
Contract (Contract) in an	amount not to exceed	rove: An Annual Roadway Landscaping d the total value of \$863,000 with the lowest, responsive, responsible bidder.
materials, equipment and incid plants, sod and irrigation syste County Departments on an as Contract is 15%. The SBE	entals required to prepare the ms in accordance with plans needed basis. The Small participation committed to	I contractor to provide services for all labor, ne site to final grade, install landscape trees, ns and as specified by various Palm Beach I Business Enterprise (SBE) goal for the by the Contractor is 24.41%. Superior of business within Palm Beach County.
Countywide (MRE)		
on Thursday, December 20, 20 date. The Contract allows for e	12. This Contract will be in extension(s), at Palm Beach (e Board of County Commissioners (Board) n effect for 12 months from Board approval County's option, for a period not to exceed lume, two contractors are needed.
Attachments: 1. Contracts 2. Contract Pages C-1 and C-2 3. SBE Compliance Review 4. Bid Tabulation		
Recommended by:	Muly yr Division Director	3/26/13 Date
Approved By:	County Engineer	Date

II. FISCAL IMPACT ANALYSIS

A. Five Year Summary of Fiscal Impact:

Fiscal Years	2013	2014	2015	2016	2017
Capital Expenditures	<u>\$ -0-</u>		0-		
Operating Costs	-0-			-0-	
External Revenues	-0-	-0-	0-	0_	-0-
Program Income (County)	-0-	-0-	-0-	0_	
In-Kind Match (County)	-0-	-0-	0-	0-	0-
NET FISCAL IMPACT	<u>\$ **</u>		-0-	0_	
# ADDITIONAL FTE					
POSITIONS (Cumulative)					

Is Item Included in Current Budget? Yes No

Budget Acct No.: Fund__ Dept.__ Unit__ Object
Program

Recommended Sources of Funds/Summary of Fiscal Impact:

** Fiscal impact is indeterminable at this time. These annual agreements are authorized to provide services on a task order basis. Funding will be established by project as necessary.

III. REVIEW COMMENTS

A. OFMB Fiscal and/or Contract Dev. and Control Comments:

OFMB 3/13/2013

Contract Dev. and Control

B. Approved as to Form and Legal Sufficiency:

Assistant County Attorney

C. Other Department Review:

Department Director

This summary is not to be used as a basis for payment.

ANNUAL CONTRACT

STATE OF FLORIDA)

)SS

COUNTY OF PALM BEACH)

This Contract, made this ____ day of _____ A.D. 2013, by and between PALM BEACH COUNTY, a Political Subdivision of the State of Florida, (hereinafter called the County), and Superior Landscaping & Lawn Services, Inc. of West Palm Beach, Florida and their heirs, successors, executors, administrators and assigns, (hereinafter called the Contractor):

WITNESSETH: The Contractor agrees with the County, for the consideration herein mentioned at his, its or their own proper cost and expense to do all the work and furnish all necessary labor, materials, equipment, machinery, tools, apparatus, services, state workmen's compensation and unemployment compensation taxes incurred in the performance of the contract, for the:

ANNUAL ROADWAY LANDSCAPING CONTRACT PROJECT NO. 2013054

IN THE AMOUNTS specified in work orders which may be issued by the County. The County is not required to issue any work orders hereunder. The total value of work orders issued under this Contract shall not exceed Eight Hundred Sixty-three Thousand Dollars (\$863,000.00), except as may be increased according to Section 9-11 of the Contract Specifications).

The Contractor further agrees for the consideration herein mentioned to commence the work with adequate forces and equipment within seventy-two (72) hours of the work order being issued for a specific project. After commencement of the work, the work order shall be properly dispatched toward completion, to the satisfaction of the Engineer, and shall be fully complete within the time limit specified in the work order. Should the time limit for completion of the work order exceed the expiration date of the contract, the work order work will continue to completion and the Contractor shall ensure that Bonding and Insurance coverage do not expire until all work orders issued prior to the expiration of this Contract are complete and accepted. It is understood and agreed that the time limit for completion of said work is the essence of the contract and should the Contractor fail to complete the work within the time limit, it is agreed that for such calendar day that any work provided for in these Contract Documents shall remain incomplete after the time limit has expired, including any official extension of the time limit; the sum per day given in the contained schedules shall be deducted from monies due the Contractor, not as a penalty, but as liquidated damages and added expense for supervision.

The Contractor shall take into account all contingent work which has to be done by other parties arising from any cause whatsoever, and shall not plead his want of knowledge of such contingent work as an excuse for delay in his work, or for its non-performance.

IN WITNESS WHEREOF, the parties have caused this Contract to be executed and sealed the day and year first written above.

ATTEST:	ÿ
SHARON R. BOCK, Clerk & Comptroller	PALM BEACH COUNTY, FLORIDA, a Political Subdivision of the State of Florida
	BOARD OF COUNTY COMMISSIONERS
By: Deputy Clerk	By: Steven L. Abrams, Mayor
APPROVED AS TO FORM AND LEGAL SUFFICIENCY	APPROVED AS TO TERMS AND CONDITIONS
(witness signature)	Superior Landsuping & Laun Service And (Corporate Name)
(witness name printed) (witness signature)	a Covida corporation (insert state of incorporation) By (signature)
(witness name printed)	(print signatory's name)
	Its President (print title)
	(date of execution) (Corporate Seal)



Office of Small Business Assistance

50 South Military Trail, Suite 202 West Palm Beach, FL 33415

> (561) 616-6840 Fax. (561) 616-6850 www.pbcgov.com/osba

Palm Beach County **Board of County** Commissioners

Steven L. Abrams, Chairman

Priscilla A. Taylor, Vice Chair

Hal R. Valeche

Paulette Burdick

Shelley Vana

Mary Lou Berger

Jess R. Santamaria

DATE:

January 29, 2013

TO:

David Young, P.E., Special Projects Manager

Roadway Production Division

Through:

Allen Gray,

Assistance

FROM:

Tanoy Williams, Compliance Specialist

SUBJECT:

Compliance Review on Project No. 2013054

Annual Roadway Landscaping Contract

The following is Compliance Review of SBE participation on the above-mentioned project.

Low BIDDER:

SUPERIOR LANDSCAPING & LAWN SERVICE, INC.

3132 Fortune Way, Suite D24

Wellington, FL 33414

Phone:

305-634-0717

Bid Opening:

December 20, 2012

Bid Amount: Goal:

\$1,061,014.95 15% Overall

Goal Achieved:

24.41%

SBE Participation:

(SB) Sullivan Electric

\$259,000.00

24.41%

ffice of Small Business

County Administrator

Robert Weisman

'An Equal Opportunity Affirmative Action Employer"

Page 1 of 2 Project 2013054



(🕰 printed on recycled paper



2nd Low Bidder:

NANAKS LANDSCAPING

Bid Amount:

\$1,132,733.85

Goal:

15% Overall

Goal Achieved:

20.00%

SBE Participation:

•	\$226,546.77	20.00%
(SB) Sullivan Electric	\$226,546.77	20.00%
(SB) 1Sunny Land Irrigat	\$ 0.00	ં0.00%

EVALUATION

The low bidder, **Superior Landscaping & Lawn Service**, **Inc.** has met the SBE goal for this project.

cc: Tammy Fields, Chief Assistant County Attorney File

¹ Sunnyland provided line items on its schedule 2 that it is not certified to perform. Since Sunnyland gave a total percentage amount only, I was not able to separate the total percentage in order to provide credit for the line items it is certified to perform.

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054

BID PROPOSAL

				SUPERIOR LANDSCAPING & LAWN SERVICE, INC.			NANAKS L	ANDSCAPING		AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT		UNIT PRICE	TOTAL AMOUNT			
1	AGAVE (AGAVE AMERICANA) 3' X 3', 15 GAL. CONTAINER	7	EACH	\$75.00	\$525.00		\$120.00	\$840.00		\$97.50	\$98.75
2	AGAVE (AGAVE AMERICANA) 5' X 5', 25 GAL. CONTAINER	7	EACH	\$170.00	\$1,190.00		\$300.00	\$2,100.00		\$235.00	\$145.80
3	AGAVE (AGAVE AMERICANA) 6' X 6', 30 GAL. CONTAINER	7	EACH	\$220.00	\$1,540.00		\$600.00	\$4,200.00	+	\$410.00	\$182.75
		*******	******	******	******		*****	******			
4	ALEXANDER PALM (PTYCHOSPERMA ELEGANS) 4" CAL. MAX., 14' OA, SINGLE TRUNK, DENSE CANOPY, (B&B, 8" W, 12" D)	50	EACH	\$375.00	\$18,750.00		\$300.00	\$15,000.00		\$337.50	\$283.80
5	ALEXANDER PALM (PTYCHOSPERMA ELEGANS) 4" CAL. MAX., 14' OA, DOUBLE TRUNK, DENSE CANOPY, (B&B, 8" W, 12" D)	35	EACH	\$400.00	\$14,000.00		\$380.00	\$13,300.00		\$390.00	\$342.60
6	ALEXANDER PALM (PTYCHOSPERMA ELEGANS) 4" CAL. MAX., 14' OA, TRIPLE TRUNK, DENSE CANOPY, (B&B, 8" W, 12" D)	25	EACH	\$450.00	\$11,250.00		\$420.00	\$10,500.00		\$435.00	\$368.90
		******	******	******	******		******	******			
7	ARECA PALM (DYPSIS LUTESCENS) 6' OA, 5 CANE MIN., 15 GAL. CONTAINER	25	EACH	\$80,00	\$2,000.00		\$85.00	\$2,125.00		\$82.50	\$86.30
8	ARECA PALM (DYPSIS LUTESCENS) 9' OA, 7 CANE MIN., 25 GAL. CONTAINER	20	EACH	\$140.00	\$2,800.00		\$150.00	\$3,000.00		\$145.00	\$144.00
		******	******	******	*******		******	*****			
9	APPLE BLOSSOM SHOWER (CASSIS JAVANICA) 3" CAL., 14' OA X 5' SPR., 7' C.T., 32" DIA. ROOTBALL B&B	4	EACH	\$500,00	\$2,000.00		\$450.00	\$1,800.00		\$475.00	\$349.20
			*******	*****	******		******				
10	BALD CYPRESS (TAXODIUM DISTICHUM) 2" CAL., 12' OA X 4' SPR., 5' C.T., 24" DIA. ROOTBALL B&B	4	EACH	\$250.00	\$1,000.00		\$260.00	\$1,040.00		\$255.00	\$192.70
11	BALD CYPRESS (TAXODIUM DISTICHUM) 2" CAL., 16' OA X 5' SPR., 8' C.T., 36" DIA. ROOTBALL B&B	4	EACH	\$350.00	\$1,400.00		\$340.00	\$1,360.00		\$345.00	\$315.25
		*******	 			-	**			¢205.00	¢212.60
12	BEAUTY LEAF (CALOPHYLLUM BRASILIENSE) 2½" CAL., 14' OA X 4½' SPR., 6' C.T., 28"DIA ROOTBALL 8&B	4	EACH	\$280.00	\$1,120.00		\$310.00	\$1,240.00		\$295.00	\$213.60
13	BEAUTY LEAF (CALOPHYLLUM BRASILIENSE) 3" CAL., 16' OA X 5' SPR., 8' C.T., 32"DIA ROOTBALL B&B	4	EACH	\$450.00	\$1,800.00		\$400.00	\$1,600.00	,	\$425.00	\$326.75
14	BEAUTY LEAF (CALOPHYLLUM BRASILIENSE) 2½" CAL., 18' OA X 5½' SPR., 8' C.T., 36"DIA ROOTBALL B&B	*******	EACH	\$360.00	\$1,440.00		\$450.00 *******	\$1,800.00		\$405.00	\$349.00
15	BLACK OLIVE (BUCIDA BUCERAS) 3" CAL., 16' OA X 5' SPR., 8' C.T., 32" DIA. ROOTBALL B&B	3	EACH	\$400.00	\$1,200.00		\$360.00	\$1,080.00		\$380.00	\$323.35
16	BLACK OLIVE (BUCIDA BUCERAS) 3%" CAL., 18' OA X 5%' SPR., 8%' C.T., 36" DIA. ROOTBALL B&B	4	EACH	\$500.00	\$2,000.00		\$400.00	\$1,600.00		\$450.00	\$366.90
10		******		******	******		*******	******			
17	CABBAGE PALM (SABAL PALMETTO) >11" CAL.,10' C.T., DENSE CANOPY BEFORE TRIM, NO BOOTS (B&B, 10" W, 18"	30	EACH	\$240.00	\$7,200.00		\$210.00	\$6,300.00		\$225.00	\$202.50
18	CABBAGE PALM (SABAL PALMETTO) >11" CAL., 13' C.T., DENSE CANOPY BEFORE TRIM, NO BOOTS (B&B, 10" W, 18" D)	30	EACH	\$240.00	\$7,200.00		\$210.00	\$6,300.00		\$225.00	\$202.50
19	CABBAGE PALM (SABAL PALMETTO) >11" CAL., 16' C.T., DENSE CANOPY BEFORE TRIM, NO BOOTS (B&B, 10" W, 18" D)	25	EACH	\$240.00	\$6,000.00		\$210.00	\$5,250.00	+	\$225.00	\$202.50
20	CABBAGE PALM (SABAL PALMETTO) >11" CAL., 18' C.T., DENSE CANOPY BEFORE TRIM, NO BOOTS (B&B, 10" W, 18" D)	20	EACH	\$240.00	\$4,800.00		\$210.00	\$4,200.00	+	\$225.00	\$202.50

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054

BID PROPOSAL

					DSCAPING & LAWN ICE, INC.		NANAKS I	LANDSCAPING	AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM #	ITEM DESCRIPTION	ONTY	UNITS	UNIT PRICE	TOTAL AMOUNT		UNIT PRICE	TOTAL AMOUNT		
21	CABBAGE PALM (SABAL PALMETTO) 11" CAL. MAX., 10' C.T., DENSE CANOPY BEFORE TRIM, NO BOOTS (B&B, 10" W, 18" D)	30	EACH	\$260.00	\$7,800.00		\$210.00	\$6,300.00	\$235.00	\$202.50
22	CABBAGE PALM (SABAL PALMETTO) 11" CAL. MAX., 13' C.T., DENSE CANOPY BEFORE TRIM, NO BOOTS (B&B, 10" W, 18" D)	30	EACH	\$260.00	\$7,800.00		\$210.00	\$6,300.00	\$235.00	\$208.60
23	CABBAGE PALM (SABAL PALMETTO) 11" CAL. MAX., 16' C.T., DENSE CANOPY BEFORE TRIM, NO BOOTS (B&B, 10" W, 18" D)	25	EACH	\$260.00	\$6,500.00		\$210.00	\$5,250.00	\$235.00	\$208.60
24	CABBAGE PALM (SABAL PALMETTO) 11" CAL. MAX., 18' C.T., DENSE CANOPY BEFORE TRIM, NO BOOTS (8&B, 10" W, 18" D)	20	EACH	\$260.00	\$5,200.00		\$210.00	\$4,200.00	\$235.00	\$208.60
		*******	******	*****	*****		******	*******		
25	CHINESE FAN PALM (LIVISTONIA CHINENSIS) 17" CAL., 12' OA, DENSE CANOPY, (B&B, 8" W, 12" D)	2	EACH	\$300.00	\$600.00		\$295.00	\$590.00	\$297.50	\$292.10
26	CHINESE FAN PALM (LIVISTONIA CHINENSIS) 17" CAL., 14' OA, DENSE CANOPY, (B&B, 8" W, 12" D)	6	EACH	\$350,00	\$2,100.00		\$325.00	\$1,950.00	\$337.50	\$320.85
27	CHINESE FAN PALM (LIVISTONIA CHINENSIS) 17" CAL., 16' OA, DENSE CANOPY, (B&B, 10" W, 18" D)	6	EACH	\$400.00	\$2,400.00		\$375.00	\$2,250.00	\$387.50	\$357.90
28	CHINESE FAN PALM (LIVISTONIA CHINENSIS) 17" CAL., 18' OA, DENSE CANOPY, (B&B, 10" W, 18" D)	6	EACH	\$450.00	\$2,700.00		\$450.00	\$2,700.00	\$450.00	\$417.25
		*******	******	******	******		******	******		
29	COCONUT PALM (COCOS NUCIFERA "MAYPAN") 10" CAL., 3' C.T., B&B	6	EACH	\$500.00	\$3,000.00		\$312.00	\$1,872.00	\$406.00	\$339.85
30	COCONUT PALM (COCOS NUCIFERA "MAYPAN") 12" CAL., 6' C.T., 8&B	5	EACH	\$700.00	\$3,500.00		\$520.00	\$2,600.00	\$610.00	\$460.00
<u></u>		*******	 	*****	*******			******		
31	CRAPE MYRTLE (LAGERSTROEMIA INDICA) 2½" CAL., 12' OA X 4' SPR., 6' C.T., 28" DIA. ROOTBALL B&B	6	EACH	\$400.00	\$2,400.00		\$335.00	\$2,010.00	\$367.50	\$231.70
32	CRAPE MYRTLE (LAGERSTROEMIA INDICA) 3" CAL., 14' OA X 5' SPR., 8' C.T., 32" DIA. ROOTBALL B&B	5	EACH	\$450.00	\$2,250.00		\$390.00	\$1,950.00	\$420.00	\$287.00
		*****	 	******	*******		******	*****		
33	DAHOON HOLLY (ILEX CASSINE) 1½" CAL., 10' OA X 2½' SPR., 4' C.T., 20" DIA. ROOTBALL B&B	6	EACH	\$250.00	\$1,500.00		\$260.00	\$1,560.00	\$255.00	\$219.00
34	DAHOON HOLLY (ILEX CASSINE) 2½" CAL., 12' OA X 3' SPR., 5' C.T., 28" DIA. ROOTBALL B&B	5	EACH	\$375.00	\$1,875.00]	\$310.00	\$1,550.00	\$342.50	\$249.25
35	DAHOON HOLLY (ILEX CASSINE) 3" CAL., 14' OA X 4' SPR., 7' C.T., 32" DIA. ROOTBALL B&B	5	EACH	\$450.00	\$2,250.00		\$360.00	\$1,800.00	\$405.00	\$350.85
		******	*******	******	******		******	******		
36	DRAKE ELM (ULMUS PARVIFOLIA "DRAKE") 3½" CAL., 16' OA X 6' SPR., 8' C.T., 36" DIA. ROOTBALL B&B	4	EACH	\$375.00	\$1,500.00		\$360.00	\$1,440.00	\$367.50	\$248.00
37	DRAKE ELM (ULMUS PARVIFOLIA "DRAKE") 4½" CAL., 18' OA X 8' SPR., 8½' C.T., 44" DIA. ROOTBALL B&B	4	EACH	\$450.00	\$1,800.00		\$410.00	\$1,640.00	\$430.00	\$373.00
		******	*******	*******	******		******	******		
38	FIREBUSH (HAMELIA PATENS) STANDARD, 5' OA X 3' SPR, DENSE FOLIAGE, 15 GAL. CONTAINER	5	EACH	\$165.00	\$825.00		\$120.00	\$600.00	\$142.50	\$107.35
<u> </u>		******	 	******	**********		*****	*********	4	12205
39	FOXTAIL PALM (WODYETIA BIFURCATA) 8" CAL. MIN., 12' OA, DENSE CANOPY, (B&B 8" W, 12" D)	4	EACH	\$300.00	\$1,200.00		\$320.00	\$1,280.00	\$310.00	\$299.25
40	FOXTAIL PALM (WODYETIA BIFURCATA) 10" CAL. MIN., 15' OA, DENSE CANOPY, (B&B 8" W, 12" D)	4	EACH	\$375.00	\$1,500.00		\$380.00	\$1,520.00	\$377.50	\$357.65
		******	ļ	*******	********		******	 	42225	645350
41	GEIGER (CORDIA SEBESTENA) 1" CAL, 8' OA X 1½' SPR., 16" DIA. ROOTBALL B&B	4	EACH	\$225.00	\$900.00		\$240.00	\$960.00	\$232,50	\$157.50

PALM BEACH COUNTY 2013 ANNUAL ROADWAY LANDSCAPING CONTRACT PROJECT NUMBER: 2013054 BID PROPOSAL

•				SUPERIOR LANDSCAPING & LAWN SERVICE, INC.			NANAKS I	ANDSCAPING	AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT		UNIT PRICE	TOTAL AMOUNT		
42	GEIGER (CORDIA SEBESTENA) 1½" CAL., 10' OA X 2½' SPR., 20" DIA. ROOTBALL B&B	4	EACH	\$250.00	\$1,000.00		\$270.00	\$1,080.00	\$260.00	\$195.80
		******	*****	******	******		******	*****		
43	GLAUCOUS CASSIA (SENNA SURATTENSIS) 2½" CAL., 12' OA X 6' SPR., 5' C.T., 28" DIA. ROOTBALL B&B	15	EACH	\$300.00	\$4,500.00		\$240.00	\$3,600.00	\$270.00	\$207.00
		******	******	******	******		******	*****	ļ	
44	GREEN BUTTONWOOD (CONOCARPUS ERECTUS) 2" CAL., 10' OA X 3½' SPR., 4' C.T., 24" DIA. ROOTBALL B&B	15	EACH	\$240.00	\$3,600.00		\$205.00	\$3,075.00	\$222.50	\$159.25
45	GREEN BUTTONWOOD (CONOCARPUS ERECTUS) 2½" CAL., 12' OA X 4' SPR., 5' C.T., 28" DIA. ROOTBALL B&B	15	EACH	\$275.00	\$4,125.00		\$240.00	\$3,600.00	\$257.50	\$185.00
46	GREEN BUTTONWOOD (CONOCARPUS ERECTUS) 3" CAL., 14' OA X 5' SPR., 7' C.T., 32" DIA. ROOTBALL B&B	15	EACH	\$280.00	\$4,200.00		\$280.00	\$4,200.00	\$280.00	\$252.30
47	GREEN BUTTONWOOD (CONOCARPUS ERECTUS) 3½" CAL., 16' OA X 6' SPR., 8' C.T., 36" DIA. ROOTBALL B&B	15	EACH	\$360.00	\$5,400.00		\$300.00	\$4,500.00	\$330.00	\$302.85
48	GREEN BUTTONWOOD (CONOCARPUS ERECTUS) 4" CAL., 20' OA X 6' SPR., 9' C.T., 40" DIA. ROOTBALL B&B	15	EACH	\$500.00	\$7,500.00		\$450.00	\$6,750.00	\$475.00	\$404.30
		******	******	*******	******		*****	******		
49	GUMBO LIMBO (BURSERA SIMARUBA) 2" CAL., 12' OA X 4' SPR., 5' C.T., 24" DIA. ROOTBALL B&B	5	EACH	\$240.00	\$1,200.00		\$280.00	\$1,400.00	\$260.00	\$213.00
50	GUMBO LIMBO (BURSERA SIMARUBA) 3½" CAL., 18'OA X 5½' SPR., 8½' C.T., 36" DIA. ROOTBALL B&B	5	EACH	\$700.00	\$3,500.00	<u> </u>	\$390.00	\$1,950.00	\$545.00	\$383.10
		******	*******	*******	******		******	*****		
51	JAPANESE BLUEBERRY (ELAEOCARPUS DECIPIENS) 1" CAL., 7' OA X 12" SPR., 16" DIA. ROOTBALL B&B	4	EACH	\$225.00	\$900.00		\$195.00	\$780.00	\$210.00	\$172.25
52	JAPANESE BLUEBERRY (ELAEOCARPUS DECIPIENS) 1½" CAL., 10' OA X 22" SPR., 20" DIA. ROOTBALL B&B	4	EACH	\$330.00	\$1,320.00		\$330.00	\$1,320.00	\$330.00	\$228.15
		******	*******	******	*******		******	******		
53	JATHROPIA STANDARD, 8' OA, B&B	5	EACH	\$190.00	\$950.00		\$330.00	\$1,650.00	\$260.00	\$146.80
54	JATHROPIA STANDARD, 10' OA, 8&B	5	EACH	\$255.00	\$1,275.00		\$440.00	\$2,200.00	\$347.50	\$180.20
55	JATHROPIA MULTI-STEM, 15 GAL. CONTAINER	4	EACH	\$65.00	\$260.00	L	\$130.00	\$520.00	\$97.50	\$78.00
		******	*******	******	******	1	*******	******		
56	KOPSIA (OCHROSIA ELIPTICA) ¾" CAL., 6' OA X 18" SPR., 2' C.T., 14" DIA. ROOTBALL B&B	4	EACH	\$195.00	\$780.00	ļ <u> </u>	\$175.00	\$700.00	\$185.00	\$151.60
57	KOPSIA (OCHROSIA ELIPTICA) 1" CAL., 8' OA X 21" SPR., 3' C.T., 16" DIA. ROOTBALL B&B	4	EACH	\$255.00	\$1,020,00	<u> </u>	\$255.00	\$1,020.00	\$255.00	\$223.50
		· · · · · · · · · · · · · · · · · · ·	*******	*******	*******		******	 	43.47.53	6314.40
<u> </u>	LAUREL OAK (QUERCUS LAURIFOLIA) 2½" CAL., 14' OA X 4½' SPR., 6' C.T., 28" DIA. ROOTBALL B&B	6	EACH	\$375.00	\$2,250.00		\$320.00	\$1,920.00	\$347.50	\$214.40
59	LAUREL OAK (QUERCUS LAURIFOLIA) 3" CAL., 16' OA X 5' SPR., 8' C.T., 32" DIA. ROOTBALL B&B	6	EACH	\$412.50	\$2,475.00		\$390.00	\$2,340.00	\$401.25	\$282.50
60	LAUREL OAK (QUERCUS LAURIFOLIA) 3½" CAL., 18' OA X 5½' SPR., 8½' C.T., 36" DIA. ROOTBALL B&B	6	EACH	\$550.00	\$3,300.00		\$440.00	\$2,640.00	\$495.00	\$387.00
61	LAUREL OAK (QUERCUS LAURIFOLIA) 4" CAL., 20' OA X 6' SPR., 9' C.T., 40" DIA. ROOTBALL B&B	6	EACH	\$600.00	\$3,600.00		\$490.00	\$2,940.00	\$545.00	\$457.40

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054

BID PROPOSAL

					DSCAPING & LAWN ICE, INC.		NANAKS I	ANDSCAPING	AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT		UNIT PRICE	TOTAL AMOUNT		
<u> </u>		******	*****	****	*******	•	******	*******		
62	LIGUSTRUM (LIGUSTRUM JAPONICUM) 1¼" CAL., 8' O.A. X 25" SPR., 3' C.T., 18" DIA. ROOTBALL B&B	10	EACH	\$250.00	\$2,500.00	+	\$225.00	\$2,250.00	\$237.50	\$246.75
63	LIGUSTRUM (LIGUSTRUM JAPONICUM) 2½" CAL., 12' O.A. X 4' SPR., 5' C.T., 28" DIA. ROOTBALL B&B	10	EACH	\$300.00	\$3,000.00	+	\$510.00	\$5,100.00	\$405.00	\$555.40
		******	******	******	******		*****	******		
64	LIVE OAK (QUERCUS VIRGINIANA) 2½" CAL., 14' OA X 4½' SPR., 6' C.T., 28" DIA. ROOTBALL B&B	5	EACH	\$300.00	\$1,500.00		\$260.00	\$1,300.00	\$280.00	\$203.40
65	LIVE OAK (QUERCUS VIRGINIANA) 3" CAL., 16' OA X 5' SPR., 8' C.T., 32" DIA. ROOTBALL B&B	5	EACH	\$300.00	\$1,500.00		\$320.00	\$1,600.00	\$310.00	\$258.00
66	LIVE OAK (QUERCUS VIRGINIANA) 3½" CAL., 18' OA X 5½' SPR., 8½' C.T., 36" DIA. ROOTBALL B&B	5	EACH	\$444.00	\$2,220.00		\$380.00	\$1,900.00	\$412.00	\$293.70
67	LIVE OAK (QUERCUS VIRGINIANA) 4" CAL., 20' OA X 6' SPR., 9' C.T., 40" DIA. ROOTBALL B&B	5	EACH	\$588.00	\$2,940.00		\$460.00	\$2,300.00	\$524.00	\$363.00
		******	*******	*******	******		*******	*****		
68	MADAGASCAR OLIVE (NORONHIA EMARGINATA) 1" CAL., 8' OA X 21" SPR., 3' C.T., 16" DIA. ROOTBALL B&B	5	EACH	\$250.00	\$1,250.00		\$210.00	\$1,050.00	\$230.00	\$167.40
69	MADAGASCAR OLIVE (NORONHIA EMARGINATA) 1½" CAL., 10' OA X 2½" SPR., 4' C.T., 20" DIA. ROOTBALL B&B	5	EACH	\$250.00	\$1,250.00		\$270.00	\$1,350.00	\$260.00	\$224.30
70	MADAGASCAR OLIVE (NORONHIA EMARGINATA) 2" CAL., 12' OA X 3" SPR., 5' C.T., 24" DIA. ROOTBALL B&B	5	EACH	\$450.00	\$2,250.00		\$330.00	\$1,650.00	\$390.00	\$286.50
		******	******	*******	******	,	*******	******		
71	MAHOGANY (SWIETENIA MAHOGANI) 3½" CAL., 16' OA X 5' SPR., 8' C.T., 36" DIA. ROOTBALL B&B	5	EACH	\$450.00	\$2,250.00		\$360.00	\$1,800.00	\$405.00	\$255.50
72	MAHOGANY (SWIETENIA MAHOGANI) 4" CAL., 18' OA X 6' SPR., 8½' C.T., 40" DIA. ROOTBALL 8&B	5	EACH	\$600.00	\$3,000.00		\$420.00	\$2,100.00 +	\$510.00	\$373.90
		*******	******	*******	*******		*******	*****		
73	MONTGOMERY PALM (VEITCHIA MONTGOMERYANA) 10" CAL. MIN., 10' - 12' OA, B&B	5	EACH	\$230.00	\$1,150.00		\$250.00	\$1,250.00	\$240.00	\$236.70
74	MONTGOMERY PALM (VEITCHIA MONTGOMERYANA) 12" CAL. MIN., 12' - 14' OA, B&B	5	EACH	\$266.00	\$1,330.00 *******		\$280.00	\$1,400.00	\$273.00	\$256.70
<u> </u>	A STANDARD AND A STAN	*******	 				¢165.00		6105.00	\$159.50
 	OLEANDER (NERIUM OLEANDER) STANDARD, 1¼" CAL., 8' OA X 2½" SPR., 3' C.T., 18" DIA. ROOTBALL B&B	10	EACH	\$225.00	\$2,250.00		\$165.00	\$1,650.00	\$195.00	
76	OLEANDER (NERIUM OLEANDER) STANDARD, 2" CAL., 10' OA X 3½" SPR., 4' C.T., 24" DIA. ROOTBALL B&B	10	EACH	\$250.00	\$2,500.00		\$220.00	\$2,200.00	\$235.00	\$214.65
77	OLEANDER (NERIUM OLEANDER) STANDARD, 2½" CAL., 12' OA X 4" SPR., 5' C.T., 28" DIA. ROOTBALL B&B	10	EACH	\$325.00	\$3,250.00 ********		\$260.00	\$2,600.00	\$292.50	\$251.50
		*******	*****	~*************************************	***********		********			
78	ORANGE JASMINE (MURRAYA PANICULATA) STANDARD, ¾" CAL., 6' OA X 18" SPR., 2' C.T., 14" DIA. ROOTBALL B&B	10	EACH	\$250.00	\$2,500.00		\$140.00	\$1,400.00	\$195.00	\$107.85
79	ORANGE JASMINE (MURRAYA PANICULATA) STANDARD, 1" CAL., 8' OA X 21" SPR., 3' C.T., 16" DIA. ROOTBALL B&B	10	EACH	\$375.00	\$3,750.00 ********	<u> </u>	\$190.00	\$1,900.00	\$282.50	\$170.15
		*******							4252 ==	4255.00
80	ORCHID TREE (BAUHINIA BLAKEANA) 2½" CAL., 14' OA X 4½' SPR., 6' C.T., 28" DIA. ROOTBALL B&B	5	EACH	\$437.50	\$2,187.50		\$290.00	\$1,450.00	\$363.75	\$265.00
		*******	******	*******	*******		*****	*****	<u> </u>	

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054 BID PROPOSAL

					DSCAPING & LAWN ICE, INC.	NANAKS	LANDSCAPING	AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT		
81	PAUROTIS PALM (ACOELRRHAPHE WRIGHTII) 8' OA X 4' SPR, MIN. 5 MAIN TRUNKS, DENSE CANOPY, (B&B, 8" W, 12" D)	10	EACH	\$400.00	\$4,000.00	\$260.00	\$2,600.00	\$330.00	\$243.50
82	PAUROTIS PALM (ACOEURRHAPHE WRIGHTII) 12' OA X 5' SPR, MIN. 7 MAIN TRUNKS, DENSE CANOPY, (8&8, 8" W, 12" D)	10	EACH	\$600.00	\$6,000.00	\$340.00	\$3,400.00	\$470.00	\$466.85
<u></u>		******	******	******	******	******	*******		
83	PIGEON PLUM (COCCOLOBA DIVERSIFOLIA) 2" CAL., 10' OA X 3½' SPR., 4' C.T., 24" DIA. ROOTBALL B&B	10	EACH	\$200.00	\$2,000.00	\$280.00	\$2,800.00	\$240.00	\$191.65
84	PIGEON PLUM (COCCOLOBA DIVERSIFOLIA) 2½" CAL., 12' OA X 4' SPR., 5' C.T., 28" DIA. ROOTBALL 8&B	10	EACH	\$300.00	\$3,000.00	\$320.00	\$3,200.00	\$310.00	\$274.25
		******	******	*******	******	******	*****		
85	PITCH APPLE (CLUSIA ROSEA) ¾" CAL., 6' OA X 2' SPR., 2' C.T., 14" DIA. ROOTBALL B&B	10	EACH	\$170.00	\$1,700.00	\$200.00	\$2,000.00	\$185.00	\$141.40
86	PITCH APPLE (CLUSIA ROSEA) 1" CAL., 8' OA X 2½' SPR., 3' C.T., 16" DIA. ROOTBALL B&B	10	EACH	\$200.00	\$2,000.00	\$250.00	\$2,500.00	\$225.00	\$199.60
		******	*******	*******	******	******	******		
87	PONGAM (PONGAMIA PINNATA) 2½" CAL., 14' OA X 4½' SPR., 6' C.T., 28" DIA. ROOTBALL B&B	5	EACH	\$280.00	\$1,400.00	\$280.00	\$1,400.00	\$280.00	\$232.00
88	PONGAM (PONGAMIA PINNATA) 3" CAL., 16' OA X 5' SPR., 8' C.T., 32" DIA. ROOTBALL B&B	5	EACH	\$320.00	\$1,600.00	\$310.00	\$1,550.00	\$315.00	\$284.35
89	PONGAM (PONGAMIA PINNATA) 3½" CAL., 18' OA X 5½' SPR., 8½' C.T., 36" DIA. ROOTBALL B&B	5	EACH	\$500.00	\$2,500.00	\$410.00	\$2,050.00	\$455.00	\$470.50
		******	*******	******	*****	******	******		
90	PURPLE GOLDEN DEWDROP (DURANTA REPENS PURPLE) STANDARD, 5' 0A X 3' SPR, DENSE FOLIAGE, 15 GAL. CONTAINER	5	EACH	\$105.00	\$525.00	\$120.00	\$600.00	\$112.50	\$120.85
		*****	******	******	******	*******	******		
91	PYGMY DATE PALM (PHOENIX ROEBELENII) 4' OA , STD., 15 GAL. CONTAINER	5	EACH	\$105.00	\$525.00	\$110.00	\$550.00	\$107.50	\$61.70
92	PYGMY DATE PALM (PHOENIX ROEBELENII) 6' OA , STD., 25 GAL. CONTAINER	5	EACH	\$187.50	\$937.50	\$150.00	\$750.00	\$168.75	\$122.40
		******	******	*******	******	*****	******		
93	REDBAY (PERSEA BORBONIA) 2" CAL., 12' OA X 4' SPR., 5' C.T., 24" DIA. ROOTBALL B&B	10	EACH	\$300.00	\$3,000.00	\$260.00	\$2,600.00	\$280.00	\$272.00
94	REDBAY (PERSEA BORBONIA) 3" CAL., 16' OA X 5' SPR., 8' C.T., 36" DIA. ROOTBALL B&B	10	EACH	\$450.00	\$4,500.00	\$310.00	\$3,100.00	\$380.00	\$356.70
<u> </u>		******	*******	******	*******	******	*****		
95	RED MAPLE (ACER RUBRUM) 2" CAL., 14' OA X 4½' SPR., 6' C.T., 24" DIA. ROOTBALL B&B	10	EACH	\$212.50	\$2,125.00	\$280.00	\$2,800.00	\$246.25	\$184.80
96	RED MAPLE (ACER RUBRUM) 3" CAL., 16' OA X 5' SPR., 8' C.T., 32" DIA. ROOTBALL B&B	10	EACH	\$300,00	\$3,000.00	\$335.00	\$3,350.00	\$317.50	\$225.50
97	RED MAPLE (ACER RUBRUM) 3½" CAL.,18' OA X 5½' SPR., 8' C.T., 36" DIA. ROOTBALL 8&B	10	EACH	\$370.00	\$3,700.00	\$380.00	\$3,800.00	\$375.00	\$304.50
<u> </u>		*******	*******	*****	******	******	******		
98	ROYAL PALM (ROYSTONEA ELATA) 17" CAL. MIN., 10' G.W., DENSE CANOPY, (B&B, 10" W, 18" D)	4	EACH	\$400.00	\$1,600.00	\$600.00	\$2,400.00	\$500.00	\$431.60
99	ROYAL PALM (ROYSTONEA ELATA) 17" CAL. MIN., 12' G.W., DENSE CANOPY, (B&B, 10" W, 18" D)	4	EACH	\$470.00	\$1,880.00	\$720.00	\$2,880.00	\$595.00	\$510.80
		*******	*******	*******	*****	*******	******		
100	SEA GRAPE (COCCOLOBA UVIFERA) 1½" CAL., 8' OA , STD., 15 GAL. CONTAINER	5	EACH	\$150.00	\$750.00	\$160.00	\$800.00	\$155.00	\$130.00
101	SEA GRAPE (COCCOLOBA UVIFERA) 2½" CAL., 10' OA , STD., 25 GAL. CONTAINER	5	EACH	\$170.00	\$850.00	\$210.00	\$1,050.00	\$190.00	\$170.30

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054

BID PROPOSAL

					DSCAPING & LAWN TICE, INC.		NANAKS I	ANDSCAPING	AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT		UNIT PRICE	TOTAL AMOUNT		
		*****	*****	*******	*****		******	*****		
102	SILVER BUTTONWOOD (CONOCARPUS ERECTUS SERICEUS) 2" CAL., 10' OA X 3½' SPR., 4' C.T., 24" DIA. ROOTBALL B&B	10	EACH	\$212.50	\$2,125.00		\$260.00	\$2,600.00	\$236.25	\$150.80
103	SILVER BUTTONWOOD (CONOCARPUS ERECTUS SERICEUS) 2½" CAL., 12' OA X 4' SPR., 6' C.T., 28" DIA. ROOTBALL B&B	10	EACH	\$337.50	\$3,375.00		\$300.00	\$3,000.00	\$318.75	\$185.63
104	SILVER BUTTONWOOD (CONOCARPUS ERECTUS SERICEUS) 3" CAL., 14' OA X 5' SPR., 8' C.T., 32" DIA. ROOTBALL B&B	10	EACH	\$437.50	\$4,375.00		\$380.00	\$3,800.00	\$408.75	\$240.80
		******	*****	*****	******		*******	*****		
105	SIMPSON'S STOPPER (MYRCIANTHES FRAGRANS) 1" CAL., 6' OA X 14" SPR., 2' C.T., 16" DIA. ROOTBALL B&B	6	EACH	\$212.50	\$1,275.00		\$180.00	\$1,080.00	\$196.25	\$119.00
106	SIMPSON'S STOPPER (MYRCIANTHES FRAGRANS) 1½" CAL., 8' OA X 22" SPR., 3' C.T., 20" DIA. ROOTBALL B&B	6	EACH	\$250.00	\$1,500.00		\$230.00	\$1,380.00	\$240.00	\$247.00
107	SIMPSON'S STOPPER (MYRCIANTHES FRAGRANS) 2½" CAL., 10' OA X 34" SPR., 4' C.T., 28" DIA. ROOTBALL B&B	6	EACH	\$437.50	\$2,625.00		\$280.00	\$1,680.00	\$358.75	\$275.50
		*****	******	******	******		*******	*******		
108	SOUTH FLORIDA SLASH PINE (PINUS ELLIOTTI 'DENSA') 1½" CAL., 8' OA X 20" SPR., 2' C.T., 7 GAL. CONTAINER	6	EACH	\$220.00	\$1,320.00		\$150.00	\$900.00	\$185.00	\$115.75
109	SOUTH FLORIDA SLASH PINE (PINUS ELLIOTTI 'DENSA') 1½" CAL., 10' OA X 2' SPR., 3' C.T., 15 GAL. CONTAINER	6	EACH	\$250.00	\$1,500.00		\$190.00	\$1,140.00	\$220.00	\$169.30
110	SOUTH FLORIDA SLASH PINE (PINUS ELLIOTTI 'DENSA') 2" CAL., 12' OA X 3' SPR., 4' C.T., 15 GAL. CONTAINER	6	EACH	\$300.00	\$1,800.00		\$230.00	\$1,380.00	\$265.00	\$201.10
		******	******	*******	******		******	*****		
111	SPANISH STOPPER (EUGENIA FOETIDA) 1" CAL., 6' OA X 14" SPR., 2' C.T., 16" DIA. ROOTBALL B&B	4	EACH	\$160.00	\$640.00		\$160.00	\$640.00	\$160.00	\$129.45
112	SPANISH STOPPER (EUGENIA FOETIDA) 1½" CAL., 8' OA X 22" SPR., 3' C.T., 20" DIA. ROOTBALL B&B	4	EACH	\$200.00	\$800.00		\$220.00	\$880.00	\$210.00	\$190.00
113	SPANISH STOPPER (EUGENIA FOETIDA) 2½" CAL., 10' OA X 34" SPR., 4' C.T., 28" DIA. ROOTBALL B&B	4	EACH	\$450.00	\$1,800.00		\$280.00	\$1,120.00	\$365.00	\$269.60
		******	******	*****	******		******	******		
114	THATCH PALM (THRINAX RADIATA) 3" CAL. MIN., 14' OA, DENSE CANOPY, (B&B 8" W, 12" D)	6	EACH	\$570.00	\$3,420.00		\$670.00	\$4,020.00	\$620.00	\$516.60
115	THATCH PALM (THRINAX RADIATA) 3" CAL. MIN., 16' OA, DENSE CANOPY, (B&B 10" W, 18" D)	6	EACH	\$670.00	\$4,020.00		\$745.00	\$4,470.00	\$707.50	\$589.30
116	THATCH PALM (THRINAX RADIATA) 3" CAL. MIN., 18' OA, DENSE CANOPY, (B&B 10" W, 18" D)	6	EACH	\$700.00	\$4,200.00	L	\$860.00	\$5,160.00	\$780.00	\$724.25
		******	******	******	******		*******	******		
117	WASHINGTON PALM (WASHINGTONIA ROBUSTA) 17" CAL. MIN., 14' 0A, DENSE CANOPY, (B&B, 8"W,12"D)	6	EACH	\$300.00	\$1,800.00		\$300.00	\$1,800.00	\$300.00	\$209.35
118	WASHINGTON PALM (WASHINGTONIA ROBUSTA) 17" CAL. MIN., 16' 0A, ĐENSE CANOPY, (B&B, 10"W,18"D)	6	EACH	\$325.00	\$1,950.00		\$345.00	\$2,070.00	\$335.00	\$246.20
119	WASHINGTON PALM (WASHINGTONIA ROBUSTA) 17" CAL. MIN., 18' 0A, DENSE CANOPY, (B&B, 10"W,18"D)	6	EACH	\$375.00	\$2,250.00		\$385.00	\$2,310.00	\$380.00	\$281.00
120	WASHINGTON PALM (WASHINGTONIA ROBUSTA) 17" CAL. MIN., 20' 0A, DENSE CANOPY, (B&B, 10"W,18"D)	6	EACH	\$437.50	\$2,625.00		\$430.00	\$2,580.00	\$433.75	\$331.55

PALM BEACH COUNTY 2013 ANNUAL ROADWAY LANDSCAPING CONTRACT PROJECT NUMBER: 2013054

BID PROPOSAL

					DSCAPING & LAWN /ICE, INC.	NANAKS	LANDSCAPING	AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT		
		******	******	*****	******	*****	******		
121	WAX MYRTLE (MYRICA CERIFERA) 1¼" CAL., 8' OA X 2½" SPR., 3' C.T., 7 GAL. CONTAINER	5	EACH	\$200.00	\$1,000.00	\$160.00	\$800.00	\$180.00	\$165.60
122	WAX MYRTLE (MYRICA CERIFERA) 2" CAL., 10' OA X 3½" SPR., 4' C.T., 15 GAL. CONTAINER	5	EACH	\$250.00	\$1,250.00	\$210.00	\$1,050.00	\$230.00	\$221.00
123	WAX MYRTLE (MYRICA CERIFERA) 2½" CAL., 12' OA X 4" SPR., 5' C.T., 25 GAL. CONTAINER	5	EACH	\$300.00	\$1,500.00	\$260.00	<u> </u>	\$280.00	\$276.30
		*****	******	******	******	******	********		
124	WEEPING FIG (FICUS BENJAMINA) 5' H X 3' W, 15 GAL. CONTAINER	4	EACH	\$135.00	\$540.00	\$80.00	\$320.00	\$107.50	\$71.70
125	WEEPING FIG (FICUS BENJAMINA) 7' H X 3.5' W, 25 GAL. CONTAINER	4	EACH	\$255.00	\$1,020.00	\$130.00	\$520.00	\$192.50	\$149.80
126	WEEPING FIG (FICUS BENJAMINA) 10' H X 4½' W, FULL TO BASE, FIELD GROWN, B&B	4	EACH	\$300.00	\$1,200.00	\$240.00		\$270.00	\$212.50
		******	 	*******	******	******	******	_	
127	WHITE STOPPER (EUGENIA AXCILLARIS) 1" CAL., 6' OA X 14" SPR., 2' C.T., 16" DIA. ROOTBALL B&B	4	EACH	\$200.00	\$800.00	\$170.00	\$680.00	\$185.00	\$110.75
128	WHITE STOPPER (EUGENIA AXCILLARIS) 1½" CAL., 8' OA X 22" SPR., 3' C.T., 20" DIA. ROOTBALL B&B	4	EACH	\$200.00	\$800.00	\$220.00	\$880.00	\$210.00	\$219.00
129	WHITE STOPPER (EUGENIA AXCILLARIS) 2½" CAL., 10' OA X 34" SPR., 4' C.T., 28" DIA. ROOTBALL B&B	4 .	EACH -	\$350.00	\$1,400.00	\$310.00	\$1,240.00	\$330.00	\$321.20
ļ		******	******	*******	******	*******	******		
130	WILD TAMARIND (LYSILOMA LATISILIQUA) 3" CAL., 16' OA X 5 SPR., 8' C.T., 32" DIA. ROOTBALL B&B	10	EACH	\$400.00	\$4,000.00	\$350.00		\$375.00	\$350.85
		******	*******	******	******		*****		
131	WININ PALM (VEITCHIA WININ) 8" CAL. MIN., 12' OA, DENSE CANOPY, (B&B 8" W, 12" D)	10	EACH	\$300.00	\$3,000.00	\$280.00	\$2,800.00	\$290.00	\$284.66
132	WININ PALM (VEITCHIA WININ) 10" CAL. MIN., 15' OA, DENSE CANOPY, (B&B 8" W, 12" D)	10	EACH	\$400.00	\$4,000.00	\$350.00	11	\$375.00	\$356.00
		******	 	*******	*******	*******	******		
133	YELLOW TABEBUIA (TABEBUIA CARAIBA) 3½" CAL., 16' OA X 5 SPR., 8' C.T., 36" DIA. ROOTBALL B&B	10	EACH	\$500.00	\$5,000.00	\$340.00	<u> </u>	\$420.00	\$298.15
		******	********	*******	*******	******	******		
134	VINES: BOWER (PANDOREA JASMINOIDES) 3' OA X 16" SPR., ON TRELLIS, 7 GAL. CONTAINER	10	EACH	\$50.00	\$500.00	\$50.00	\$500.00	\$50.00	\$45.50
135	VINES: CONFEDERATE JASMINE (TRACHELOSPERMUM JASMINOIDES) 3' OA X 16" SPR., ON TRELLIS, 7 GAL. CONTAINER	10	EACH	\$50.00	\$500.00	\$60.00	\$600.00	\$55.00	\$40.00
136	VINES: MEXICAN FLAME (SENECIO CONFUSUS) 3' OA X 16" SPR., ON TRELLIS, 7 GAL. CONTAINER	10	EACH	. \$60.00	\$600.00	\$60.00	\$600.00	\$60.00	\$50.20
137	VINES: VIOLET TRUMPET (CLYTOSTOMA CALLISTEGIODES) 3' OA X 16" SPR., ON TRELLIS, 7 GAL. CONTAINER	10	EACH	\$60.00	\$600.00	\$60.00	\$600.00	\$60.00	\$57.20
		******	*******	*******	******	******	******		
138	ACCENT PLANTS, 1 GAL. CONTAINER	275	EACH	\$4.75	\$1,306.25	\$4.00	\$1,100.00	\$4.38	\$3.80
139	ACCENT PLANTS, 3 GAL. CONTAINER	200	EACH	\$18.00	\$3,600.00	\$19.00	\$3,800.00	\$18.50	\$10.95
140	GROUNDCOVERS, 1 GAL. CONTAINER	215	EACH	\$4.75	\$1,021.25	\$4.00	\$860.00	\$4.38	\$3.60
141	WOODY ORNAMENTALS, 3 GAL. CONTAINER	50	EACH	\$18.00	\$900.00	\$10.00	\$500.00	\$14.00	\$9.00

PALM BEACH COUNTY 2013 ANNUAL ROADWAY LANDSCAPING CONTRACT PROJECT NUMBER: 2013054

BID PROPOSAL

					DSCAPING & LAWN VICE, INC.		NANAKS I	ANDSCAPING		AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM #	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT		UNIT PRICE	TOTAL AMOUNT			
142	WOODY ORNAMENTALS, 7 GAL. CONTAINER	30	EACH	\$33.00	\$990.00		\$30.00	\$900.00		\$31.50	\$28.45
			******	*****	******		******	******			
	FURNISH AND INSTALL SOD:	******	*******	*******	******		******	************			
143	SITE PREPARATION AND INSTALLATION OF ST. AUGUSTINE "FLORATAM" SOD	80,000	SF	\$0.52	\$41,600.00		\$0.41	\$32,800.00		\$0.47	\$0.36
144	SITE PREPARATION AND INSTALLATION OF BAHIA "ARGENTINE" SOD	12,000	SF	\$0.47	\$5,640.00		\$0.36	\$4,320.00		\$0.42	\$0.33
145	SITE PREPARATION AND INSTALLATION OF BAHIA "ARGENTINE" SEED	11,000	SY	\$0.75	\$8,250.00		\$1.00	\$11,000.00		\$0.88	\$0.76
		******	*******	*******	******		*******	******			
146	FURNISH AND INSTALL TOPSOIL	275	СҮ	\$30.00	\$8,250.00		\$30.00	\$8,250.00		\$30.00	\$26.80
147	FURNISH AND INSTALL #2 FILL SOIL	275	СУ	\$32.00	\$8,800.00		\$33.00	\$9,075.00		\$32.50	\$24.40
148	FURNISH AND INSTALL MULCH	275	CY	\$40.00	\$11,000.00		\$41.00	\$11,275.00		\$40.50	\$36.80
		******	*******	******	******		******	******			
149	FURNISH AND APPLY FERTILIZER - IRRIGATED SOD	5	BAG	\$44.00	\$220.00		\$40.00	\$200.00		\$42.00	\$34.34
150	FURNISH AND APPLY FERTILIZER - UN-IRRIGATED SOD	5	BAG	\$44.00	\$220.00		\$40.00	\$200.00		\$42.00	\$32.34
		******	*******	******	*********		******	*****			
151	FURNISH AND APPLY WEED & FEED FERTILIZER - IRRIGATED SOD	5	BAG	\$55.00	\$275.00		\$45.00	\$225.00		\$50.00	\$38.76
152	FURNISH AND APPLY WEED & FEED FERTILIZER - UN-IRRIGATED SOD	5	BAG	\$55.00	\$275.00		\$45.00	\$225.00		\$50.00	\$38.76
		******	******	****	******		*****	******			
153	FURNISH AND INSTALL RIGID ROOT BARRIER	275	LF	\$17.25	\$4,743.75		\$10.00	\$2,750.00		\$13.63	\$8.70
154	FURNISH AND INSTALL FLEXIBLE ROOT BARRIER	275	LF	\$12.00	\$3,300.00		\$12.00	\$3,300.00		\$12.00	\$11.30
		******	*******	******	******		******	******			
155	EXCAVATION (INCL. REMOVAL/DISPOSAL)	10	СУ	\$38.00	\$380.00		\$30.00	\$300.00		\$34.00	\$24.00
156	50/50 BACKFILL (FURNISH AND INSTALL)	10	CY	\$35.00	\$350.00		\$25.00	\$250.00		\$30.00	\$25.00
		*****	*******	******	******		******	******			
157	PLANTING AND STAKING ONLY (TREE SUPPLIED BY OTHERS)	65	EACH	\$100.00 ******	\$6,500.00	<u> </u>	\$110.00 *******	\$7,150.00	+	\$105.00	\$98.40
			********		1	Γ		<u> </u>		45.55	4262.00
158	RELOCATE TREE (90" TREE SPADE) - 5 MILES OR LESS	10	EACH	\$1,400.00	\$14,000.00	ļ	\$425.00	\$4,250.00		\$912.50	\$362.00
159	RELOCATE TREE (90" TREE SPADE) - MORE THAN 5 MILES	6	EACH	\$1,694.00	\$10,164.00	L;	\$600.00	\$3,600.00		\$1,147.00	\$427.70
		******	********	******	*****		******	******			
160	PAINTING OF THREE (3) VERTICAL STAKE SYSTEM (AS SPECIFIED)	150	EACH	\$20.00	\$3,000.00		\$9.00	\$1,350.00		\$14.50	\$7.70
161	PAINTING OF FOUR (4) VERTICAL STAKE SYSTEM (AS SPECIFIED)	75	EACH	\$25.00	\$1,875.00		\$9.00	\$675.00		\$17.00	\$9.20
162	PAINTING OF FOUR (4) BRACE SYSTEM (AS SPECIFIED)	175	EACH	\$28.00	\$4,900.00		\$9.00	\$1,575.00		\$18.50	\$9.20
		*****	******	*******	*******		******	******			

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054

BID PROPOSAL

				SUPERIOR LANDSCAPING & LAWN SERVICE, INC.		NANAKS I	ANDSCAPING	AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT		
163	RE-STAKING OF THREE (3) VERTICAL STAKE SYSTEM (PER STAKE)	10	EACH	\$40.00	\$400.00	\$25.00	\$250.00	\$32.50	\$19.50
164	RE-STAKING OF FOUR (4) VERTICAL STAKE SYSTEM (PER STAKE)	6	EACH	\$55.00	\$330.00	\$35.00	\$210.00	\$45.00	\$23.00
165	RE-STAKING OF FOUR (4) BRACE SYSTEM (PER STAKE)			\$55.00	\$275.00	\$35.00	\$175.00	\$45.00	\$27.55
		*******	******	******	******	******	******		
166	WATERING (AS SPECIFIED)	350	HOURS	\$66.00	\$23,100.00	\$60.00	\$21,000.00	\$63.00	\$51.30
		******	*******	*******	*****	*****	*******		
	TURF MAINTENANCE	******	******	*******	********	******	******		
16/	SMALL MACHINE TURF MAINTENANCE, INCLUDING MOWING, EDGING, TRIMMING, LITTER COLLECTION AND DISPOSAL	10	AC	\$290.00	\$2,900.00	\$100.00	\$1,000.00	\$195.00	\$92.35
168	LARGE MACHINE TURF MAINTENANCE, INCLUDING MOWING, EDGING, TRIMMING, LITTER COLLECTION AND DISPOSAL	6	AC	\$189.00	\$1,134.00	\$70.00	\$420.00	\$129.50	\$59.20
		******		*****	*******	******	*****		
	COUNTY WIDE IRRIGATION PRODUCTS AND SERVICES - SEE NOTES BELOW		******	*******	******	*******	******	À10.00	¢15.70
169	2" DIRECTIONAL BORE	75	LF	\$20.00	\$1,500.00	\$19.80	\$1,485.00	\$19.90	\$15.70
170	JACK AND BORE 4" PVC (SCHED. 80) IRRIGATION SLEEVES	75	LF	\$37.00	\$2,775.00	\$38.50	\$2,887.50	\$37.75	\$26.00
171	IACK AND BORE 6" PVC (SCHED. 80) IRRIGATION SLEEVES	75	LF	\$35.00	\$2,625.00	\$55.00	\$4,125.00	\$45.00	\$33.05
		******		*****	********	*******	******		
	FURNISH AND INSTALL SCHEDULE 40 IRRIGATION LINES (COMPLETE):		LF		1	\$1.22	\$122.00	\$1.38	\$1.34
	3/4" PVC	100	LF LF	\$1.53	\$153.00	\$1.22	\$858.00	\$1.46	\$1.50
<u> </u>	1" PVC	650	LF LF	\$1.60	\$1,040.00	\$1.65	\$453.75	\$1.69	\$1.74
174	1¼" PVC	275	 	\$1.73	\$475.75	\$1.05	\$528.00	\$1.89	\$1.88
175	1%" PVC	275	LF LF	\$1.85 \$2.15	\$508.75 \$591.25	\$2.45	\$673.75	\$2,30	\$2.08
ļ	2" PVC	275			 		\$239.25	\$2.82	\$2.94
177	2" PVC MAIN	75	LF	\$2.45	\$183.75	\$3.19	\$343.20	\$4.22	\$4.01
178	3" PVC MAIN	80	LF	\$4.15	\$332.00	\$4.29			\$3.80
179	4" PVC MAIN	80	LF	\$5.23	\$418.40	\$4.92	\$393.60	\$5.08	\$3.75
180	2%" O-RING PVC MAIN	80	LF	\$4.10	\$328.00	\$5.65	\$452.00	\$4.88	
181	3" O-RING PVC MAIN	80	LF	\$5.00	\$400.00	\$6.10	\$488.00	\$5.55	\$4.40
182	4" O-RING PVC MAIN	80	LF	\$5.47 *******	\$437.60	\$6.80	\$544.00	\$6.14	\$5.30
			*******	*******	*******	*******	*****	 	
	FURNISH AND INSTALL SCHEDULE 40 "PURPLE" RE-USE IRRIGATION LINES (COMPLETE):				·	\$1.37	\$342,50	\$1.56	\$1.40
183	3/4" PVC	250	LF	\$1.75	\$437.50	\$1.37	\$342,50	\$1.36	72.70

BID PROPOSAL

PALM BEACH COUNTY 2013 ANNUAL ROADWAY LANDSCAPING CONTRACT PROJECT NUMBER: 2013054

				SUPERIOR LANDSCAPING & LAWN SERVICE, INC.		NANAKS	LANDSCAPING		AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM #	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT			
184	1" PVC	625	LF	\$1.93	\$1,206.25	\$1.5	\$962.50		\$1.74	\$1.60
185	1¼" PVC	215	LF	\$2.10	\$451.50	\$1.9	\$425.70		\$2.04	\$1.80
186	1½" PVC	215	LF	\$2.28	\$490.20	\$2.1	\$468.70		\$2.23	\$1.90
187	2" PVC	215	LF	\$2.48	\$533.20	\$2.6	\$567.60		\$2.56	\$2.30
188	2" PVC MAIN	80	LF	\$3.15	\$252.00	\$3.5	\$285.60		\$3.36	\$3.00
189	3" PVC MAIN	100	LF	\$4.08	\$408.00	\$4.7	\$474.00		\$4.41	\$3.94
190	4" PVC MAIN	100	LF	\$4.52	\$452.00	\$5.7	\$575.00		\$5.14	\$4.44
191	2½" O-RING PVC MAIN	100	LF	\$3.38	\$338.00	\$6.5	\$650.00		\$4.94	\$3.57
192	3" O-RING PVC MAIN	100	LF	\$3.93	\$393.00	\$6.8	\$680.00		\$5.37	\$4.39
193	4" O-RING PVC MAIN	100	LF	\$5.10	\$510.00	\$7.6	\$760.00		\$6.35	\$5.25
		******	*****	******	******	******	*****			
	FURNISH AND INSTALL CLASS 200 IRRIGATION LINES (COMPLETE):	******	******	******	******	******	******	· ·		
194	3/4" PVC	250	LF	\$1.10	\$275.00	\$1.1	\$295.00	<u> </u>	\$1.14	\$1.40
195	1" PVC	900	LF	\$1.31	\$1,179.00	\$1.3	\$1,170.00	<u> </u>	\$1.31	\$1.60
196	1¼" PVC	525	LF	\$1.62	\$850.50	\$1.6	\$855.75		\$1.63	\$1.74
197	1½" PVC	525	L,F	\$1.89	\$992.25	\$1.8	\$992.25		\$1.89	\$1.90
198	2" PVC	525	LF	\$2.20	\$1,155.00	\$2.4			\$2.33	\$2.10
		*****	******	** ******* ********			*******			
	FURNISH AND INSTALL FLEXIBLE PVC IRRIGATION LINES (COMPLETE):	*****	*******	*****	*****	******	*****	r [
199	2" FLEXIBLE PVC	75	LF	\$2.23	\$167.25	\$3.1			\$2.71	\$2.50
200	2½" FLEXIBLE PVC	75	LF	\$2.58	\$193.50	\$3.9			\$3.24	\$2.90
201	3" FLEXIBLE PVC	115	L.F	\$3.10	\$356.50	\$4.9	\$569.25 ************	+	\$4.03	\$3.40
		******	******	******	******	******		·	1	4255.00
202	PROVIDE CONNECTION TO EXISTING IRRIGATION SYSTEM	2	EACH	\$588,00	\$1,176.00	\$660.0		<u> </u>	\$624.00	\$365.60
203	PROVIDE CONNECTION TO EXISTING POTABLE WATER LINE.	3	EACH	\$588.00	\$1,764.00	\$962.0		-	\$775.00	\$520.50
204	PROVIDE CONNECTION TO EXISTING RE-USE WATER LINE.	2	EACH	\$588.00	\$1,176.00	\$1,540.0	3,080.00	<u> </u>	\$1,064.00	\$840.50
			******	*****	******	******	*****			
	FURNISH AND INSTALL PUMP AND COMPLETE PUMP STATION: FURN. & INST. 2 HP CENTRIFUGAL PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM AN								t44.770.75	¢0.101.05
205	ADJACENT WATER BODY	2	EACH	\$11,750.00	\$23,500.00	\$11,809.0	\$23,618.00	ļ	\$11,779.50	\$9,101.25
206	FURN. & INST. 3 HP CENTRIFUGAL PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM AN ADJACENT WATER BODY	1	EACH	\$11,949.00	\$11,949.00	\$13,282.0	\$13,282.00		\$12,615.50	\$9,258.50

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054

BID PROPOSAL

				SUPERIOR LANDSCAPING & LAWN SERVICE, INC.		NANAKS L	ANDSCAPING	AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT		
207	FURN. & INST. 5 HP CENTRIFUGAL PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM AN ADJACENT WATER BODY	1	EACH	\$14,023.00	\$14,023.00	\$15,384.00	\$15,384.00	\$14,703.50	\$10,970.30
208	FURN. & INST. 7½ HP CENTRIFUGAL PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM AN ADJACENT WATER BODY	1	EACH	\$16,545.00	\$16,545.00	 \$17,941.00	\$17,941.00	\$17,243.00	\$12,551.75
209	FURN, & INST. 10 HP CENTRIFUGAL PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM AN ADJACENT WATER BODY	1	EACH	\$16,342.00	\$16,342.00	 \$18,489.00	\$18,489.00	\$17,415.50	\$13,646.70
210	FURN. & INST. 2 HP CENTRIFUGAL PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM WELL	2	EACH	\$10,420.00	\$20,840.00	\$22,017.00	\$44,034.00	\$16,218.50	\$12,006.20
211	FURN. & INST. 3 HP CENTRIFUGAL PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM WELL	1	EACH	\$10,651.00	\$10,651.00	 \$22,187.00	\$22,187,00	\$16,419.00	12.74.7
212	FURN. & INST. 5 HP CENTRIFUGAL PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM WELL	1	EACH	\$16,455.00	\$16,455.00	\$26,206.00	\$26,206.00	\$21,330.50	\$14,308.25
213	FURN. & INST. 7½ HP CENTRIFUGAL PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM WELL	1	EACH	\$15,720.00	\$15,720.00	\$27,792.00	\$27,792.00	\$21,756.00	\$15,613.00
214	FURN. & INST. 10 HP CENTRIFUGAL PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM WELL	1	EACH	\$16,745.00	\$16,745.00	\$27,992.00	\$27,992.00	\$22,368.50	\$21,121.00
215	FURN. & INST. 2 HP SUBMERSIBLE PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM WELL	. 2	EACH	\$13,087.00	\$26,174.00	\$23,307.00	\$46,614.00	\$18,197.00	\$11,683.00
216	FURN. & INST. 3 HP SUBMERSIBLE PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM WELL	1	EACH	\$13,098.00	\$13,098.00	 \$23,318.00	\$23,318.00	\$18,208.00	\$12,881.00
217	FURN. & INST. 5 HP SUBMERSIBLE PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM WELL	1	EACH	\$17,836.00	\$17,836.00	\$26,291.00	\$26,291.00	\$22,063.50	\$17,550.00
218	FURN. & INST. 7½ HP SUBMERSIBLE PUMP AND COMPLETE PUMP STATION FOR OBTAINING WATER FROM WELL	1	EACH	\$18,564.00	\$18,564.00	\$28,910.00	\$28,910.00	\$23,737.00	\$24,174.00
		******		*******	*******	 ******	*****		
	FURNISH AND INSTALL PUMP INTO AN EXISTING PUMP STATION - COMPLETE	*****	********	******	*******	 ******	*****	4225.00	d4 001 30
219	FURNISH AND INSTALL 2, HP. CENTRIFUGAL PUMP INTO AN EXISTING PUMP STATION - COMPLETE	2	EACH	\$819.00	\$1,638.00	\$831.00	\$1,662.00	\$825.00	\$4,981.20
220	FURNISH AND INSTALL 3 HP CENTRIFUGAL PUMP INTO AN EXISTING PUMP STATION - COMPLETE	1	EACH	\$1,052.00	\$1,052.00	 \$1,067.00	\$1,067.00	\$1,059.50	\$5,059.40
221	FURNISH AND INSTALL 5 HP CENTRIFUGAL PUMP INTO AN EXISTING PUMP STATION - COMPLETE	1	EACH	\$1,741.00	\$1,741.00	\$1,871.00	\$1,871.00	\$1,806.00	\$5,732.80
222	FURNISH AND INSTALL 7½ HP CENTRIFUGAL PUMP INTO AN EXISTING PUMP STATION - COMPLETE	1	EACH	\$2,117.00	\$2,117.00	\$2,147.00	\$2,147.00	\$2,132.00	\$7,156.10
223	FURNISH AND INSTALL 10 HP CENTRIFUGAL PUMP INTO AN EXISTING PUMP STATION - COMPLETE	1	EACH	\$2,701.00	\$2,701.00	\$2,739.00	\$2,739.00	\$2,720.00	\$7,421.40
224	FURNISH AND INSTALL 2 HP SUBMERSIBLE PUMP INTO AN EXISTING PUMP STATION AND WELL - COMPLETE	2	EACH	\$2,066.00	\$4,132.00	\$2,100.00	\$4,200.00	\$2,083.00	\$2,946.30
225	FURNISH AND INSTALL 3 HP SUBMERSIBLE PUMP INTO AN EXISTING PUMP STATION AND WELL - COMPLETE	1	EACH	\$2,700.00	\$2,700.00	\$2,626.00	\$2,626.00	\$2,663.00	\$9,648.70
226	FURNISH AND INSTALL 5 HP SUBMERSIBLE PUMP INTO AN EXISTING PUMP STATION AND WELL - COMPLETE	1	EACH	\$3,308.00	\$3,308.00	\$3,214.00	\$3,214.00	\$3,261.00	\$10,210.75

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054

BID PROPOSAL

Attachment 4

and the second of the second o

				* *	OSCAPING & LAWN ICE, INC.		NANAKS LANDSCAPING			AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT		UNIT PRICE	TOTAL AMOUNT			
227	FURNISH AND INSTALL 7½ HP SUBMERSIBLE PUMP INTO AN EXISTING PUMP STATION AND WELL - COMPLETE	1	EACH	\$4,250.00	\$4,250.00		\$4,130.00	\$4,130.00		\$4,190.00	\$11,284.10
		*******	*******	******	******	十	******	*****			
	FURNISH ONLY - PUMP (DELIVERED AS DIRECTED)	*****	******	*****	*****		******	*****			
228	FURNISH ONLY - 2 HP CENTRIFUGAL PUMP (DELIVERED AS DIRECTED) - COMPLETE	2	EACH	\$515.00	\$1,030.00		\$522.00	\$1,044.00		\$518.50	\$2,848.30
L	FURNISH ONLY - 3 HP CENTRIFUGAL PUMP (DELIVERED AS DIRECTED) - COMPLETE	1	EACH	\$626.00	\$626.00		\$635.00	\$635.00		\$630.50	\$4,585.30
230	FURNISH ONLY - 5 HP CENTRIFUGAL PUMP (DELIVERED AS DIRECTED) - COMPLETE	1	EACH	\$1,256.00	\$1,256.00		\$1,276.00	\$1,276.00		\$1,266.00	\$4,891.75
231	FURNISH ONLY - 7½ HP CENTRIFUGAL PUMP (DELIVERED AS DIRECTED) - COMPLETE	1	EACH	\$1,500.00	\$1,500.00		\$1,519.00	\$1,519.00		\$1,509.50	\$5,198.20
232	FURNISH ONLY - 10 HP CENTRIFUGAL PUMP (DELIVERED AS DIRECTED) - COMPLETE	1	EACH	\$2,155.00	\$2,155.00		\$2,184.00	\$2,184.00		\$2,169.50	\$5,929.60
2.52.		******		******	*****		*****	******			
-	MISCELLANOEUS IRRIGATION PUMP AND PUMP STATION ITEMS FURNISH AND INSTALL - COMPLETE	******	******	*******	*****		*****	******		42 122 22	
233	CONCRETE VAULT, 48" X 48" X 36", WITH DRAINAGE	2	EACH	\$2,350.00	\$4,700.00		\$2,614.00	\$5,228.00		\$2,482.00	\$2,772.70
234	ALUMINUM VAULT LID	2	EACH	\$1,912.00	\$3,824.00		\$1,783.00	\$3,566.00		\$1,847.50	\$1,403.10
235	PLASTIC TANK, 55 GAL.	2	EACH	\$293.00	\$586.00		\$268.00	\$536.00		\$280.50	\$421.00
236	1/4 HP SUMP PUMP WITH DISCHARGE PIPING AND POP-UP DISCHARGE BLOW OFF	2	EACH	\$450.00	\$900.00		\$438.00	\$876.00		\$444.00	\$500.00
237	INJECTOR PUMP	2	EACH	\$681.00	\$1,362.00		\$662.00	\$1,324.00		\$671.50	\$419.70
238	FUSED MAIN DISCONNECT, WITH METER - 2 HP PUMP STATION	1	EACH	\$1,500.00	\$1,500.00		\$1,459.00	\$1,459.00		\$1,479.50	\$1,791.30
239	FUSED MAIN DISCONNECT, WITH METER - 3HP PUMP STATION	1	EACH	\$1,700.00	\$1,700.00		\$1,459.00	\$1,459.00		\$1,579.50	\$1,842.70
240	FUSED MAIN DISCONNECT, WITH METER - 5HP PUMP STATION	1	EACH	\$1,676.00	\$1,676.00		\$1,559.00	\$1,559.00		\$1,617.50	\$1,944.10
241	FUSED MAIN DISCONNECT, WITH METER - 7½ HP PUMP STATION	1	EACH	\$1,757.00	\$1,757.00		\$1,500.00	\$1,500.00		\$1,628.50	\$1,994.10
242	FUSED MAIN DISCONNECT, WITH METER - 10 HP PUMP STATION	1.	EACH	\$2,157.00	\$2,157.00		\$2,017.00	\$2,017.00		\$2,087.00	\$2,385.10
243	1" GREY PVC SCH 40 - IN ADDITION TO 200' BASE LENGTH (INSTALLED IN TRENCH)	75	LF	\$5.36	\$402.00		\$4.05	\$303.75	+	\$4.71	\$5.00
244	1" GREY PVC SCH 80 - IN ADDITION TO 200' BASE LENGTH (INSTALLED ABOVE GROUND OR UNDER PAVEMENT)	70	LF	\$5.67	\$396.90		\$4,43	\$310.10		\$5.05	\$12.30
245	1½" GREY PVC SCH 40 - IN ADDITION TO 200' BASE LENGTH (INSTALLED IN TRENCH)	70	LF	\$10.35	\$724.50		\$9.74	\$681.80		\$10.05	\$5.50
246	1½" GREY PVC SCH 80 - IN ADDITION TO 200' BASE LENGTH (INSTALLED ABOVE GROUND OR UNDER PAVEMENT)	70	LF	\$10.25	\$717.50		\$9.97	\$697.90		\$10.11	\$12.80
247	2" GREY PVC SCH 40 - IN ADDITION TO 200' BASE LENGTH (INSTALLED IN TRENCH)	65	LF	\$10.33	\$671.45		\$10.07	\$654.55		\$10.20	\$7.10
248	2" GREY PVC SCH 80 - IN ADDITION TO 200' BASE LENGTH (INSTALLED ABOVE GROUND OR UNDER PAVEMENT)	65	LF	\$10.48	\$681.20		\$10.27	\$667.55		\$10.38	\$12.80
249	#12 THWN COPPER WIRE SERVICE (INSTALLED IN CONDUIT IN EXCESS OF 200' BASE LENGTH)	60	LF	\$3.59	\$215.40		\$2.20	\$132.00		\$2.90	\$2.50
250	#10 THWN COPPER WIRE SERVICE (INSTALLED IN CONDUIT IN EXCESS OF 200' BASE LENGTH)	60	LF	\$4.21	\$252.60		\$2.92	\$175.20	+	\$3.57	\$2.50

PALM BEACH COUNTY 2013 ANNUAL ROADWAY LANDSCAPING CONTRACT PROJECT NUMBER: 2013054 BID PROPOSAL

				SUPERIOR LANDSCAPING & LAWN SERVICE, INC.		NANAKS I	ANDSCAPING		AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT			
251	#8 THWN COPPER WIRE SERVICE (INSTALLED IN CONDUIT IN EXCESS OF 200' BASE LENGTH)	60	LF	\$5.20	\$312.00	\$4.08	\$244.80	+	\$4.64	\$2.60
252	#6 THWN COPPER WIRE SERVICE (INSTALLED IN CONDUIT IN EXCESS OF 200' BASE LENGTH)	60	LF	\$6.40	\$384.00	\$5.48	\$328.80		\$5.94	\$2.80
253	#4 THWN COPPER WIRE SERVICE (INSTALLED IN CONDUIT IN EXCESS OF 200' BASE LENGTH)	60	LF	\$8.82	\$529.20	\$8.30	\$498.00		\$8.56	\$3.50
254	#3 THWN COPPER WIRE SERVICE (INSTALLED IN CONDUIT IN EXCESS OF 200' BASE LENGTH)	60	LF	\$9.17	\$550.20	\$8.80	\$528.00	-	\$8.99	\$3.70
	#2 THWN COPPER WIRE SERVICE (INSTALLED IN CONDUIT IN EXCESS OF 200' BASE LENGTH)	60	LF	\$10.79	\$647.40	\$10.60	\$636.00		\$10.70	\$4.30
255	#1 THWN COPPER WIRE SERVICE (INSTALLED IN CONDUIT IN EXCESS OF 200' BASE LENGTH)	60	LF	\$12.52	\$751.20	\$12.60	\$756.00		\$12.56	\$4.70
256		60	LF	\$14,35	\$861.00	\$14.75	\$885.00		\$14.55	\$5.00
257	#1/0 THWN COPPER WIRE SERVICE (INSTALLED IN CONDUIT IN EXCESS OF 200' BASE LENGTH)	******	L		*******	*******	******			
	IRRIGATION WELL CONSTRUCTION:	******	******	******	******	*******	**********			
258	4" OPEN-END WELL	2	EACH	\$5,800.00	\$11,600.00	\$6,534.00	\$13,068.00		\$6,167.00	\$3,141.96
259	5" OPEN-END WELL	2	EACH	\$8,600.00	\$17,200.00	\$6,897.00	\$13,794.00		\$7,748.50	\$4,571.90
260	6" OPEN-END WELL	1	EACH	\$8,700.00	\$8,700.00	\$9,680.00			\$9,190.00	\$7,521.90
261	8" OPEN-END WELL	1	EACH	\$10,150.00	\$10,150.00	\$12,100.00	\$12,100.00		\$11,125.00	\$9,575.00
262	ADDITIONAL WELL DEPTH IN EXCESS OF 100' BASE DEPTH	45	VF	\$56.00	\$2,520.00	\$66.00	\$2,970.00	L	\$61.00	\$60.00
		******	*****	******	******	*******	******			
	IRRIGATION WELL REFURBISHMENT/RESTORATION:	 	******	******				1	\$4,127.00	\$3,820.50
263	4" OPEN-END WELL	2	EACH	\$6,439.00	\$12,878.00	\$1,815.00	 	 -	 	
264	5" OPEN-END WELL	2	EACH	\$8,610.00	\$17,220.00	\$1,936.00			\$5,273.00	\$5,125.00
265	6" OPEN-END WELL	1	EACH	\$8,710.00	\$8,710.00	\$2,057.00			\$5,383.50	\$5,167.50
266	IRRIGATION WELL ABANDONMENT - ALL SIZES, ALL DEPTHS	1	EACH	\$715.00	\$715.00	\$1,815.00			\$1,265.00	\$780.20
		******	******	******	******	******	********			
	FURNISH AND INSTALL IRRIGATION HEADS:		******	******	********	******	<u></u>	· 	440.70	\$19.00
267	6" POP-UP SPRAYHEAD INCLUDING FLEXIBLE PIPE	65	EACH	\$19.75	\$1,283.75	\$19.00	+		\$19.38	
268	12" POP-UP SPRAYHEAD INCLUDING SWING JOINT	65	EACH	\$26.10	\$1,696.50	\$22.00	-	_	\$24.05	\$46.85
269	12" POP-UP SPRAYHEAD WITH SIDE INLET BODY INCLUDING SWING JOINT	65	EACH	\$30.00	\$1,950.00	\$26.50	· · · · · · · · · · · · · · · · · · ·		\$28.25	\$21.85
270	TURF ROTOR INCLUDING SWING JOINT	65	EACH	\$28.50	\$1,852.50	\$55.00		<u> </u>	\$41.75	\$61.45
271	FLOOD BUBBLER INCLUDING FLEXIBLE PIPE	65	EACH	\$9.25	\$601.25	\$8.80			\$9.03	\$11.65
			******	******	******	******	*******			
	FURNISH AND INSTALL ISOLATION VALVES:	******	*******	*****	******	******	******	T		A0.50.75
272	1" GATE VALVE IN TRAFFIC RATED VALVE BOX	2	EACH	\$266.00	\$532.00	\$222.00	\$444.00	ļ	\$244.00	\$369.75
273	1" GATE VALVE IN EXISTING VALVE BOX	2	EACH	\$140.00	\$280.00	\$73.00	\$146.00		\$106.50	\$167.90
274	1½" GATE VALVE IN TRAFFIC RATED VALVE BOX	2	EACH	\$260.00	\$520.00	\$266.00	\$532.00		\$263.00	\$387.50

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054

BID PROPOSAL

				SUPERIOR LANDSCAPING & LAWN SERVICE, INC.		NANAKS I	ANDSCAPING	AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT		
275	1½" GATE VALVE IN EXISTING VALVE BOX	2	EACH	\$125.00	\$250.00	\$116.00	\$232.00	\$120.50	\$170.60
276	2" GATE VALVE IN TRAFFIC RATED VALVE BOX	2	EACH	\$510.00	\$1,020.00	\$290.00	\$580.00	\$400.00	\$498.00
277	2" GATE VALVE IN EXISTING VALVE BOX	2	EACH	\$289.00	\$578.00	\$141.00	\$282.00	\$215.00	\$281.10
278	2 %" GATE VALVE IN TRAFFIC RATED VALVE BOX	2	EACH	\$448.00	\$896.00	\$550.00	\$1,100.00	\$499.00	\$435.60
	2 %" GATE VALVE IN EXISTING VALVE BOX	2	EACH	\$298.00	\$596.00	\$402.00	\$804.00	\$350.00	\$218.70
279	Z 72 GATE VALVE IN CAUTING VALVE BOX	******	*****	******	*******	*****	*****		
280	FURNISH AND INSTALL 2" AIR RELIEF VALVE IN TRAFFIC RATED VALVE BOX	2	EACH	\$425.00	\$850.00	\$328.00	\$656.00	\$376.50	\$447.20
		*******	*****	*****	******	******	******	45.050	6222.70
281	FURNISH AND INSTALL 3/4" PRESSURE RELIEF VALVE	2	EACH	\$325.00	\$650.00	\$160.00	\$320.00	\$242.50	\$223.70
282	FURNISH AND INSTALL 1" PRESSURE RELIEF VALVE	2	EACH	\$355.00	\$710.00	\$180.00	\$360.00	\$267.50	\$216.20
		******	******	*******	*****	*****	******		
	FURNISH AND INSTALL FLOW SENSORS:	2	EACH	\$350.00	\$700.00	\$805.00	\$1,610.00	\$577.50	\$693.00
283	1½" SENSOR IN TRAFFIC RATED VALVE BOX	2	EACH	\$325.00	\$650.00	\$660.00	\$1,320.00	\$492.50	\$480.40
284	1½" SENSOR IN EXISTING VALVE BOX	2	EACH	\$375.00	\$750.00	\$855.00	\$1,710.00	\$615.00	\$693.50
285	2" SENSOR IN TRAFFIC RATED VALVE BOX	2	EACH	\$365.00	\$730.00	\$710.00	\$1,420.00	\$537.50	\$482.60
286	2" SENSOR IN EXISTING VALVE BOX	******	*******	******	*******	*******	******		
	FURNISH AND INSTALL ZONE VALVES:	******	*******	*****	********	******	*****		
287	1" ZONE VALVE WITH 1" GATE VALVE, INCLUDING VALVE BOX AND PIPING - COMPLETE	2	EACH	\$305.00	\$610.00	\$330.00	\$660.00	\$317.50	\$293.00
288	1½" ZONE VALVE WITH 1½" GATE VALVE, INCLUDING VALVE BOX AND PIPING - COMPLETE	2	EACH	\$345.00	\$690.00	\$360.00	\$720.00	\$352.50	\$355.90
289	2" ZONE VALVE WITH 2" GATE VALVE, INCLUDING VALVE BOX AND PIPING - COMPLETE	2	EACH	\$385.00	\$770.00	\$395.00	\$790.00	\$390.00	\$427.97
290	2½" ZONE VALVE WITH 2½" GATE VALVE, INCLUDING VALVE BOX AND PIPING - COMPLETE	2	EACH	\$625.00	\$1,250.00	\$462.00	\$924.00	\$543.50	\$586.30
291	BRASS HOSE BIB ON CONTROL VALVE	2	EACH	\$210.00	\$420.00	\$85.00	\$170.00	\$147.50	\$216.20
292	CONTROL WIRE (DIRECT BURIAL) INSTALLED W/MAIN LINE	4,000	LF	\$0.26	\$1,040.00	\$0.28	\$1,120.00	\$0.27	\$0.30
293	CONTROL WIRE (DIRECT BURIAL) BURIED IN ITS OWN CONDUIT	2,500	LF	\$2.08	\$5,200.00	\$1.97	\$4,925.00	\$2.03	\$1.40
2.55	COTTACT VIII. (OTHER) DOWNER,	******	******	*****	******	******	*****		
	FURNISH AND INSTALL CONTROLLER:	******	******	******	*****	*******	**********		00.454.40
294	12 STATION "SENTINEL FIELD SATELLITE" CONTROLLER WITH HYDROMETER	2	EACH	\$7,632.90	\$15,265.80	\$8,750.00	\$17,500.00	\$8,191.45	\$8,154.10
295	24 STATION "SENTINEL FIELD SATELLITE" CONTROLLER WITH HYDROMETER	2	EACH	\$8,310.60	\$16,621.20	\$10,095.00	\$20,190.00	\$9,202.80	\$9,496.30
296	36 STATION "SENTINEL FIELD SATELLITE" CONTROLLER WITH HYDROMETER	1	EACH	\$9,574.20	\$9,574.20	\$11,443.00	\$11,443.00	\$10,508.60	\$10,852.70
297	48 STATION "SENTINEL FIELD SATELLITE" CONTROLLER WITH HYDROMETER	1	EACH	\$10,837.80	\$10,837.80	\$12,790.00	\$12,790.00	\$11,813.90	\$6,114.20

F-\ROADWAY\PRO\2013\2013\054\1_Bid Documents\Bid Tab\2013\054 Annual Landscaping Items Tab 122112

	PALM BEACH CO	UNTY		
2013 ANNUAL	ROADWAY LAND	SCAPING CON	ITRACT	
PR	OJECT NUMBER:	2013054		

BID PROPOSAL

	under the second se		SUPERIOR LANDSCAPING & LAWN SERVICE, INC.			NANAKS LANDSCAPING			AVERAGE OF BID ITEMS	ENGINEERS ESTIMATE	
ITEM#	ITEM DESCRIPTION	QNTY	UNITS	UNIT PRICE	TOTAL AMOUNT		UNIT PRICE	TOTAL AMOUNT			
	AS STATION CONTINUE CONTROLLED EVIDANISION MODELLE	2	EACH	\$1,909.00	\$3,818.00		\$1,375.00	\$2,750.00		\$1,642:00	\$7,081.20
	12 STATION SENTINEL CONTROLLER EXPANSION MODULE	2	EACH	\$1,090.00	\$2,180.00		\$966.00	\$1,932.00		\$1,028.00	\$919.74
!	PHONE MODEM	2	EACH	\$3,400.00	\$6,800.00		\$3,245.00	\$6,490.00		\$3,322.50	\$3,108.50
300	COMMUNICATION TOWER		EACH	\$910.00	\$1,820.00		\$285.00	\$570.00		\$597.50	\$655.90
301	4 STATION RAINBIRD ESP		ļ		· · · · · · · · · · · · · · · · · · ·			\$345.00	+-	\$697.50	\$734.25
302	6 STATION RAINBIRD ESP	1	EACH	\$1,050.00	\$1,050.00		\$345.00	\$343.00	 -'		
<u> </u>	8 STATION RAINBIRD ESP	1	EACH	\$1,098.00	\$1,098.00		\$395.00	\$395,00		\$746.50	\$764.80
		100	DAY	\$188.00	\$18,800.00		\$500.00	\$50,000.00		\$344.00	\$350.00
304	SURCHARGE FOR MOT IN FDOT R/W	TOTAL BID *******	*******	******	\$1,061,014.95	+	*****	\$1,132,733.85	+		

Attachment 4

PALM BEACH COUNTY

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054 BID PROPOSAL

Notes	\sim	1		
NOTE	LID	I ann	SI: 21	381111
	V::	Lunus	,,,,,	/

- Trunk caliper (diameter) is measured 6 inches from the ground on trees up to and including 4 inches in caliper, and 12 inches above the ground for larger trees. The caliper (diameter) of a palm tree is taken at the widest portion, measured between 1 and 3 feet from the soil line.
- 2 All B&B to be natural burlap; not synthetic fabric, as per specifications.
- C.T. (Clear Trunk) heights specify required minimum height of bottom of tree foliage (excluding palms) for clear sight & maintenance purposes, not the minimum height of first major branch (as per Florida Grades & Standards definition). As per this alternate definition of C.T., some branches without foliage may be allowed within the required 8.0' or 8.5' clear sight window as specified. No leaf foliage, including palm fronds, may encroach into a required clear sight window.
- All trees & palms shall meet or exceed minimum requirements of "Florida Grade No. 1" as per the current Grades & Standards for Nursery Plants by the Florida Department of Agriculture & Consumer Services.
- Minimum depth of B&B rootballs is to be at least 2/3 of specified minimum rootball diameter shown, except for palms, which have designated widths (W) & depths (D) above.
- 6 No more than 2" of soil shall be above the top root of a rootball.
- The above plant counts are estimated quantities before the actual design of various pending road projects is completed. Previous typical projects have ranged from 10 to 350 trees.
- All costs associated with the performance of work under this contract including but not limited to all materials, labor, & equipment shall be included in the unit bid item cost for each tree.

Notes On Irrigation:

- Items 169 through 171 Contractor shall provide all boring logs, boring profiles and permits to the County.
- 10 Items 177 through 179 and 188 through 190 When 2", 3" or 4" PVC is used as main line, Schedule 80 fittings shall be used.
- 11 Items 180 through 182 and 191 through 193 Include all ductile iron fittings, thrust blocking, line guard tape and testing.
- ltems 202 through 204 Include all costs associated with plumbing codes compliance and installation of owner provided meter/hydrant as applicable.
- Items 205 through 209 Include all costs associated with electrical connection (200' base length), furnish and install primary (with meter) and secondary (with station) fused disconnects, enclosure, intake screen, Hot Stop, pressure/air relief valve in approved valve box, flow meter in approved valve box, Ames Cla-Valve (if applicable), all permits and all items specified in item ISC 2.08 Pump Station. Base suction line shall be 200'. Note that the South Florida Water Management District General Water Use Permit will be provided to the Contractor. Irrigation Controller is not included.
 - Items 210 through 218 Include all costs associated with electrical connection (200' base length), furnish and install primary (with meter) and secondary (with station) fused disconnects, well construction (100' base depth), enclosure, Hot Stop, pressure/air relief valve in approved valve box or strut mounted (as directed by the Engineer), Ames Cla-Valve, if applicable, flow meter in approved valve box, Ames Cla-Valve (if applicable), all permits and all items specified in item ISC 2.08 Pump Station and all permits. Note that the South Florida Water Management District General Water Use Permit will be provided to the Contractor. Irrigation Controller is not included.

2 - 2" galv. unions 2 - 2" 90° galv. elbows

1 - 2" galv. tee 1 - 3/4" galv. tee 1 - 3/4"x2" galv. nipple 2 - 2"x4" galv. nipple 2 - 2"x6" galv. nipple 1 - 2"x3/4" galv. Bushing

PALM BEACH COUNTY

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054 BID PROPOSAL

15	Items 228 through 232 - Furnish Only - Pump (Delivered) - Each complete unit shall be delivered to:										
	Streetscape Field Operations Office										
	2555 Vista Parkway										
	West Palm Beach, FL 33411										
	Phone: 561-233-3990										
	Contractor will contact Streetscape Field Operations prior to delivery to coordinate delivery times and to confirm that staff will be available to receive the item(s).										
16	Items 243 through 248 - Grey PVC Conduit (SCH 40 and 80) is for conduit ONLY. Conductors are to be paid under Items 249 through 257 - THWN Copper Service.										
17	Items 249 through 257 - THWN Copper Wire Service (Installed in conduit in excess of 200' base length) is for four (4) conductors. Price does not include cost of the conduit. Conduit to be paid under Items 243 through 248 - Grey PVC Conduit.										
18	Items 263 through 265 - The work for Well Refurbishment/Restoration shall include removal of concrete around the well head, removal of the pump station from the work area, removal of well liner pipe, installation of seat drive shoe with drill rig or installation of additional casing as required.										
19	Item 266 - The work for Well Abandonment shall include removal of the pump station from the work area and delivery to a local location specified by the County, sealing of the well head with concrete, removal of service and filing of necessary permits and reports with jurisdictional agencies with copies of all such documents supplied to the County.										
20	Items 287 through 290 - Shall include installation of a gate valve for maintenance isolation, sized to match the zone control valve, placed upstream at the time of installation of the zone valve in the same single valve box.										
21	All electrical service, fuses, motor feeder wire, conduit, etc., required for providing power to the pump station shall comply with the current editions of the National Electric Code, the Florida Building Code and the Palm Beach County Building Code, with all current addenda. Contractor shall be required to acquire all electrical permits and provide all required permit drawings.										
	Notes On Pumps - both Furnish and Install and Furnish Only:										
22	Items 205 through 232 - All pumps shall include the following hardware:										

Attachment 4

PALM BEACH COUNTY

2013 ANNUAL ROADWAY LANDSCAPING CONTRACT

PROJECT NUMBER: 2013054 BID PROPOSAL

	2 - 2"x1½" galv. Bushing 1 - 3/4" hose bib 1 - hot stop 1 - liquid filled pressure gauge, min. 150 psi rated 1 - 2" strataflow check valve 1 - pressure relief valve. Size shall be 1" (including 1 - 1"x2" galvanized tee) for 2 HP and 3 HP pumps and 1½" (including 1 - 1½"x2" galv. tee) for 5 HP pumps and larger	***************************************
	1 - 2" pressure regulating valve for 5 HP pumps and larger	4
23	Maintenance of Traffic (MOT) is considered incidental to each and every Item in the Contract. Surcharge (Item 304) is only for additional MOT costs incurred while working in FDOT Rights of Way when compliance with FDOT requirements exceeds the County's MOT standards.	

+ Indicates a discrepency/error in the item quantity/amount.

ABC INC. Indicates a NON-LOCAL bidder.

Days to Complete: Task basis.

Bids as read at opening of Tuesday, December 20, 2012; 2PM
All bids subject to OSBA SBE compliance and Board Approval.
Opened & Prepared by: Joseph M. Totino, Project Coordinator II
Checked by: David Young, P.E., Special Project Program Manager